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11.

12,

SECTION A — (10 x 2 = 20 marks)

Answer any TEN questions.

What are three important functions of finance?

féuder epenm pédlw uamilser wrg ?

What is-the source of finance?

HE gy TN GTenTa ?

Write short note on ‘Wealth Maximization.

Q&sbw;_’sémg, 2 s5LLIMSFIGUG A GOLL SHS.

What do you mean by weiéhted average cost of capital?
By ggmsfl epegen Qewa| arearuget GUTHET W6 ?
State any two assumptions of NI approach.”

NI é{@@@émmuﬁ]m FCEEUD @) DAGIDTTRSEDET (.

A

What are the tybes of leverages?

@(r_r,LbQ(Ees'rrcﬁ]eirr CUMGBHET WTEHa? .

What is meant by ‘Stock dividend’?

[} . . ] s ) 'E
LRI UBISTETWLD GTETDT6) 6TEE.?

Give the formula Garden’s model.

_&mirLai wrglfufe éLoei&rur‘r’@ B(53.

What is net workfi‘n;gr capitél?
B&T BOL (P peSETd wmg?

What is operating cycle?
CQewdueap Fddpann eTammeD ereen?

Give the formula for pay-back period,
AU Cegussib sTOsSHDETar FOTUTH &(HS.

Define Capital Budgeting. -

pesar UL Qnl. Gossmid sms.

.

sacsa) Mangptnunt
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SECTION B — (5 x 5 = 25 marks)
Answer aﬁy FIVE questions.

What are the various functions of finance manager?

BlEulwer Cuoererfer LdGeumy uaflaer wraneu?

Ganesh Industries Ltd, issues 5,000 12% debentures for Rs. 100
each at par. The tax rate is 40%. Calculate before tax and after

tax cost of debt.

&Canrely  @amLcvigfley 60, ep. 100 eisd 5,000, 12% * &L
ugdlrtseer (pswdlide deuellGdng. ef aigb 40% Y GLb.
sLen Barer Qeawame cuflég @er wHmib (Ve erans e {9y

Arun Ltd. expects a net operating income of Rs. 2,00,000. It has
Rs. 2,00,000 in 10% debentures, the overall capitalization rate is
12%. Calculate the value of the firm and equity capital rate
according to NOI approach.

Sipam GG LT erdiumidsiu@n Ber peLpap @eorub
eh. 2,00,000. flpiwob 10% sLafl (il usHrhiser . 2,00,000 &@
ausHMmsdpgl. QAunss pagar &s lfsb 12%. Hlar FarL(pap
Gursdlerug  Bmwgder Quorss wHllameand wHOID (yasug,m
Nflggamsub semsdlHs.

From the following information calculate operating leverage.

Production and sales - 30,000 units
Selling price perunit - Rs. 20
Variable cost per unit -  Rs.l0

Fixed cost per unit of

Current level of sales - Rs. 5

Sparanid efeurtismerd QsTam® BanL(pand <UDHOTSTLISS aard
&TEHTEs.

2 Hugd Qeiigg wHHID SHms - 30,000 e @ser
puenar elena @ SdlhHeE - em. 20

rYUGL Qswaisdr @m SwdheE - . 10

Hlavaws Gewe) @@m DG

(sHCGurensw eflpuener Bemeldled) - ¢h. D
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G o dretaumy flar Qumés @ULS@SUD &6 ST PSS TS
(. 50,0000ptd CgeneuliLBib @) yem(H GI_IITI_Lq.(QS S L iiseflelmbg
garn Carey Qeunutiue. Geudmig ujerearg).

GU(HL-LD Sl 3 ' SlLLib
(- (WE
1 25,000 10,000
2 15,000 12,000
3 10,000 - 18,000
4 Nil 25,000
5 12,000 8,000
6 6,000 4,000

ningdlear ppager oi_ssalanew 10% Gemeimeuar < ETHES,
10% ssdle sHGuramsw) wliys smeaflsar

QU(HLLD 1 2 3 4 5 6
shGurensw iy 0.909 0.826 0.751 0.683 0.621 0.564
smrentl 10% :

AL s smigssmers Smbus Qeqssb sre Yopuid FmH S
spCGurasw wéliy wpepuld wHulSEH Ceus.
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Nereupd  ssaudselldlmbs  Frrefl Bl pop posas
Coameuulanens srams. -

R0 PTG HS
(1) eqmefl gr&dmLys CGsmens €.
Wgebm Cummerseier @mLiL 10,000
epeIGLImmeT @ apLliy o 8,000
() syrefl s euprd Hé sraw :
2 61 Wrhle elpuemer - (2 CUTTRIGET &L ) 1,04,000
Qeuafl wrfle elhuemer - (6 euTTEISET &L éb) 3,12;000_
(@) Qeiszisder satmeans srw :
QaraTIpsed - (4 GuNhISET) 78,000
el - (2 euTrrhIGET) , 2,60,000

Blap T @gs@ 10% CardsayLb.

Choice is to be made between two competing proposals which
require an equal investment of Rs. 50,000 and are expected to
generate net cash flows as under:

Year Project A Project B
Rs. Rs.

1 25,000 10,000
2 15,000 12,000
3 10,000 18,000
4 Nil 25,000
5 12,000 . 8,000
6 6,000 4,000

The cost of capital of the company is 10%. The folowing are the
present value factors at 10% pa.

Year 1 2 3 4 5 6
P.V. Factors 10% : 0.909 0.826 0.751 0.683 0.621 0.564

Which project proposal should be chosen? Evaluate the project
proposals under discounted cash flow method.
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17.

18.

From the following data, determine the market price per share
as per Walter’'s model. ‘

Earnings per share - ‘Rs. 30
Cost of capital - 13%
Return on investment - 16%
Dividend payout ratio -  40%.

Spsrapib efleurtisefalmhg eurdLi wrdflular e LGUIASE G
vtidlenar ghang ellemaen sarsd Hs.

Q@ UmSler Bgrar FLL6 - 5. 30
ppgarssar Bgrar oL sah - 13%
(PSESLig et L5g GumeuT - 16%
URISTSTW 698510 - 40%.

Prepare the estimated working capital requirements from the
following information of a trading concern.

(a) . Projected annual sales 1,00,000 units

(b) Selling price Rs. 8 per unit

(¢) Percentage gross profit on sales — 25%

(d) Average credit period allowed to customers - 8 weeks

(e) Average credit period allowed by suppliers - 4 weeks "

(f) Average stock holding in terms of sales required - 12 weeks

Allow 10% contingencies.

auanfla Flpeuansdlan sseumsaiadBhg GCoamauwmar Bl (paD (LPSD
STEHE (6.

(1) earh afpueanar 1,00,000 é\@@&;‘@'ﬂ

(<) elpuenar eflenad D@ GeTdH@E 5. 8

(@) eMpuener Barar Qrss @l eigbd - 25%

(M) eUMgSensWMeT(hé@ eflds errefl s smob - 8 GUTTT IS T
(20) Slefluumerymed cuprislUL L syrefl ST STl - 4 eUTThISET

(ear) Gaenculuran elpuenanssrear gynefl F7é6@ @asH@mLLg -
12 qumymigaT

Ba&wp smym égjé;@ 10% Si@indléaa|b. .
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Initial outlay — Rs. 50,000

Life of the asset — 5 years ,
Estimated cash flow — Rs. 12,500
Calculate internal rates of return.

SQTIDL PEOGETID ~ eh. 50,000
Qergg)daefien éJrrgQg)rrdT - 5 GU(RHLLD
Gg;m}rru_lmrrcszr_r Qunés BHLIDTLLID < ¢h. 12,500

@eLssre eumeuril clflssens samrsslhs.
SECTION C — (3 x 10 = 30 marks)
Answer any THREE questions.

Explain the basic objectives of financial management.

15 Guearamenioudler g LliLien Corésmtisamer allarsEs.

Siva Ltd. has an all equity capital structure consisting of 20,000
equity shares of Rs. 100 each. The management plans to raise
Rs. 30 lakhs to finance a programme of expansion. Three
alternative methods of financing are under consideration.

(a) Issue of 30,000 new shares of Rs. 100 each.
(b) Issue of 30,000 8% debentures of Rs. 100 each.
(c) Issue of 30,000 8 % preference shares of Rs. 100 each.

The company’s expected earnings before interest and taxes
(EBIT) is Rs. 10 lakhs. Determine the earnings per share
in each alternative assuming a corporate tax rate of 50 per
cent. Which alternative is best and why?
fleur Sl ep. 100 @b 20,000 LUki@Gsamear gk CEuSng.
flpeuard  Gogib . 30 Qorsd 2wisd wadh dsww
AmwLdlpg. Epsrapd  epearm  wrdflsemer @spars  Csiey
Qewuidlpg.
(=) B 100 aligib 30,000 ukGsmer GeuafludBHged
(@) em. 100 aigb 30,000, 8% sLen LG TRGET QeuafludBge

(@) en. 100 eisd 30,000, 8% (penepflevy LAIGSMET
Qevafluliiged '

aufl Lo,rj)g,uLb\ UL lg&E@ (PHOSW GUHeUTL eh. 10 @lal &b crafled

@aiQeurm FUlLgsder Sp uki@ qerdler eumaumi sam@dly. eurfl

oisb 50% erans Glamers. cperm eudlsatler erg HApHbsg? erem erewm

NS ;
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23.

Determine the market price per share under Gordons model.

Rate of return 20%
Capitalisation rate 156%

Earni11g per share Rs.14
If retention is '

a - 40%

b - 60%

c-20%

Epsranld  Sj@ioraThsmas GQsran® sriler wrdfuler  Lig
viidlenar hang wHLIEmars sras.

WS igar gmar eumeurl efdlgd 20%
POSET &S5 G 15%
@ e Bgnen L6 5. 14
LBISTSTL elprhise edldlgm

a-40%

b -60%

c - 20%

From the following estimates, calculate the average amount of
working capital required.

Per annum

(a) Average amount locked up in stock: ' Rs.
Stock of finished goods and work-in-progress 10,000
. Stock of stores, material etc. 8,000

(b) Average credit given:

Local sales 2 weeks’ credit 1,04,000

Outside the state 6 weeks’ credit 3,12,000
(¢) Time available for payments:

For purchases 4 weeks 78,000

For wages 2 weeks 2,60,000

Add 10% to allow for contingencies.
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